Supplementary Figures 
Supplementary Figure 1: The pairwise correlations among the 17 candidate variables  
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image1.emf
Intensity of headache —|  -0.01 0.03 0.06 -0.01 0.04 0.06 0.09 -0.02 -0.01 0.05 [0.65 0.33 0.21 0.11 0.10 -0.14

Frequency of headache — |-0:46|-0.06 -0.09 0.06 -0.07 -0.07 -0.10 -0.00 -0.05 0.21 -0.14 -0.16 0.03 0.06 -0.08 -0.14
Duration of headache —  -0.07 0.11 0.12 -0.08 0.07 -0.04 0.02 0.08 -0.04 0.13 0.49 0.29 0.15 0.05 -0.08 0.10
Length of episodes —|  -0.07 0.06 -0.18 0.03 -0.00 0.07 0.08 -0.15 -0.13 0.08 0.07 -0.05 0.17 0.05 0.06 0.11
Absence from school =  -0.14 0.10 -0.16 0.13 0.07 0.03 0.10 -0.13 -0.11 0.19 052 0.22 0.17 0.15 0.03 0.21
Co-occuring symptoms —[  0.02 0.02 -0.04 -0.08 0.09 0.10 0.12 0.10 0.06 0.00 0.22 -0.05 0.29 -0.16 0.33
Migraine-TTH —  -0.10 0.09 -0.04 -0.05 0.10 0.06 0.15 0.03 -0.03 0.13 0.52 0.07 049 -0.14 0.55
Age —| |:086/-0.02 0.06 0.03 0.22 0.13 0.17 -0.15 -0.01 0.13 0.00 0.19 0.08 0.13 0.21 0.05
Sport activity = 0.28 -0.02 0.10 0.01 0.10 0.18 -0.06 0.01 -0.01 -0.03 0.06 -0.11 -0.13 -0.04 -0.05 -0.01
Sleep duration —|  0.13 -0.01 0.00 -0.06 021 0.17 -0.21 0.01 -0.15 0.03 0.10 -0.13 -0.15 0.08 -0.00 -0.02
Screen time —|  -0.32 0.10 0.02 -0.03 -0.02 0.01 -0.21 -0.06 0.17 0.15 0.12 0.10 0.08 0.02 -0.10 0.09
Trauma experience — 034 0.05 -0.15 0.09 052 0.01 0.17 0.18 0.13 0.06 0.10 0.03 0.07 -0.04 -0.07 0.06
History of concussions —| 0.1 0.04 -0.00 0.04 0.52 -0.02 021 0.10 022 0.10 0.09 0.07 -0.00 0.07 -0.07 0.04
History of neck pain —|  -0.03 0.08 -0.17 0.04 0.09 -0.03 -0.06 0.01 0.03 -0.05 -0.08 0.13 0.03 -0.08 0.06 -0.01
Socioeconomic status — 001 -0.04 -0.17 -0.00 -0.15 0.02 0.00 0.10 0.06 -0.04 -0.04 -0.16 -0.18 0.12 -0.09 0.06
Headache in the family —|  o.02 -0.04 0.08 0.04 0.05 0.10 -0.01 -0.02 -0.02 0.09 0.02 0.10 0.06 0.11 -0.06 0.03
Expected benefit index — 0.02 0.01 -0.03 0.11 0.34 -0.32 0.13 0.28 |0.56/-0.10 0.02 -0.14 -0.07 -0.07 -0.46/ -0.01
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